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(“have to” DAL, Tdo not/ does not / did not + have to] D& 723)
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(1) should not (shouldn’t) = ~F 5 XX T{E72W [/ ~LZRWEI N LW
<> You should not (shouldn’t) drink that. (D771, HBNERTRE TITRWTY)

We should not (shouldn’t) open the window. — (R.7=Hi%, BEBITRWIZH BREWTT)
(2) must not (mustn’t) = ~L TIEW T2 (maynot LY &58VEE L)

<f5>  She must not (mustn’t) go there. (i, £ 2T UV ERA)
You must not (mustn’t) use this machine.  (H72721%, Z Ok ZE > TTWTF EHA)
(3) donot(don’t) haveto = ~L72<THULW
<f5]>  We do not (don’t) have to finish this. (FL=BIE T hz kb bER< THWVNTT)
She does not (doesn’t) have to come here. (&3 Z 212k < THWWTT)
(4)  could not (couldn’t) = ~TZ72)2>7- (cannot D L)
<f> 1 could not (couldn’t) help him. (RLIE, 5T 5 2 M TEEEATLE)
They could not (couldn’t) go to France. (#513, 75> XITAT ZEMTEEHATLE)
(5) may not (B#E#ITARY) = ~THZ LILTE RV (cannot O TEERF W)
=~TRWV1H LIvRn
<> You may not stay here. (B7at=1t, ZZIVWD I LITTEERA)

He may not like the present.  (IZ7 LB b ZKICAL RV LAVERA)
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